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Candidates are reguired to give their answers in their own words as far as practicable
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Module - I
Group - A
Answer the following questions 1x10

1. Which one of the following costs is nof relevant to the long-run ?

A. Marginal cost B.  Average cost
C. Fixed cost D.  Variable cost. i
2. What is the shape of the MR curve of a perfectly competitive firm ? !
A. Upward sloping B.  Downward sloping
C. Vertical straight line D.  Horizontal straight line.
3. Which of the following is not a feature of perfect competition ? :
A. Single seller B.  Homogeneous product
C. Free entry and exit D.  Perfect knowledge.
4. If a specific sales tax of Rs. 10/ is imposed in a perfectly competitive market, how will the market supply curve
behave ?
A. Shift parallelly downward B.  Shift parallelly upward
C. Remain unchanged D.  Become vertical.

5. If the absolute value of price elasticity of demand for a commodity is one (unity) throughout the demand curve,
then the demand curve is :

A. Parallel to the horizontal axis B.  Parallel to the vertical axis
C. A rectangular hyperbola D.  Concave to the origin.
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6. Which of the following is nor a property of indifference curve ?
A. It is negatively sloped
B. It is convex to the origin ’
C. Indifference curves do not intersect each other
D. It is a horizontal straight line.

7. Consider a situation where the price of wheat goes up steeply all of a sudden. How do you expect the demand
curve for rice to behave ?
A. Will shift to the right
B. Will shift to the left
C. Will remain unchanged
D. Will become perfectly vertical.

8. Atthe point of inflexion of total product curve :
A. Marginal product is maximum
B. Average product is maximum
C. Total product is maximum
D. Marginal product is zero.

9. Assume that the firm has a fixed budget to be completely spent on purchase of two inputs for producing a single
output. What is the name of the locus of different combinations of the two inputs which can be purchased with the aforesaid
budget ?

A. Isoquant B.  Isocost line
C. Envelope curve D.  Ridge Line.
10.  The shape of an Average Fixed Cost (AFC) curve is :
A. Downward sloping straight line B.  Upward sloping curve
C. Rectangular hyperbola D.  Horizontal straight line.
Group-B
Answer the following questions 2x15

1. What is the total cost of production of 300 units if fixed cost is 10,000 and average variable cost is T 20 ?
A. %19,000 B.  =20,000 C. 16,000 D.  =30,020.

2. The minimum point of Marginal Cost (MC) curve lies :
A. To the left of the minimum points of both AVC curve and AC curve
B. To the right of the minimum points of both AVC curve and AC curve
C. To the left of the minimum point of AVC curve, but to the right of the minimum point of AC curve
D. To the right of the minimum point of AVC curve, but to the left of the minimum point of the AC curve.

3. Let the Total Cost (TC) of producing different units of a produc* be as follows :

Q | TC

0 |10

9 [X70

10 | 80
What are the values of AFC and AVC for 10 units of output ?
A. 310 and % 7 respectively B. %10 and < 8 respectively
C. % 1 and 3 7 respectively D. %1 and=x 8 respectively.

4. When Average Cost (AC) is rising, the Marginal Cost (MC) is :
A. Falling B.  Greater than AC
C. Less than AC D.  Equalto AC.
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5. A perfectly competitive firm making a loss in the short-run will stop production when :
A.P<AVC B. P>AVC
C. P>AC D. P=AC.
6. Inthe long-run, a firm under perfect competition earns :
A. Incurs normal loss B.  Earns supernormal profit
C. Earns normal profit D.  No definite conclusion can be drawn.

7. Let the price faced by a perfectly competitive firm be equal to ¥ 7. Some data on short-run MC are given below :
Q 1011 12]13[14]15

MCR)|7]6|5]|6|7]|38

At what output level can the firm expect to maximise its profit ?

A. 10 B. 12

C. 14 D.  No definite conclusion can be drawn.

8. The short-run supply curve of a firm under perfect competition is :
A. The upward sloping portion of the MC curve lying above the minimum point of the AVC curve
B. The upward sloping portion of the MC curve lying above the minimum point of the AC curve
C. The entire upward portion of the MC curve '
D. Both the downward and upward sloping portions of the MC curve.

9. In the Marshallian framework, a disequilibrium situation is brought back to equilibrium through :
A. Adjustment of price B.  Adjustment of both price and quantity
C. Adjustment of either price or quantity D.  Adjustment of quantity.

10. When the price of a good falls from % 10 to % 8 per unit, quantity demanded increases from 1250 to 1750 units. The
absolute value of price elasticity of demand for the good is :
A. 2 B. 5
C. 8 D. 10.

11. In the context of Marshallian demand theory, the marginal utility of money is :
A. Diminishing B. Increasing
C. Zero D. A positive constant.

12. In ordinal utility analysis, the marginal rate of substitution between two goods X and Y is defined as
A. MUy B. i C. M—UY g s
B, MU, B; Py
(The symbols have their usual meanings).

13. The Income Consumption Curve (ICC) is the locus of different equilibrium points :
A. When only the price of good X (P, ) changes

B. When only the price of good Y (P, ) changes

C. When only Px and Py change, but not in the same proportion
D. When only the income of the consumer changes.

14. Assume that the absolute value of price elasticity of demand for a commodity is one (unity). When the price is T 4,
the demand is 300 units. What amount will be demanded if price falls to ¥ 3 ?
A. 400 units B. 300 units
C. 200 units D. 900 units.

15. When the total product curve (relating to labour) is falling :
A. Marginal product of labour is zero
B. Marginal product of labour is negative
C. Marginal product of labour is positive
D. Marginal product of labour is equal to the average product of labour.
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